THSFE MIMREFFREERFTRRVIMT =R

E fE:  HSHEREFPRAEER 1.4 8 #MsH7A31R(A) 9:008%
EOE MEHEESPRAEERYIL = REMH
% # WAETHEZAZ 1% 8 WARTERRERS
SHTHEEAR
EFTHEEAR
RWHHEEAR
WARTAR—ViHE
ERBFEADE ] [ Bz FEAEDE ]
1 2 3 BB | NRAL 1 2 3 BB | JEGL
= B % % A ®-0 | ®-0 2-0| 1 1= % % ® ®-o0|®-o0|2-0| 1
B E % B o 0-3 0-3 o-2| 3 2 & iR B| 0—3 o-2 |o-2| 3
2 F ¥ W o-3 @0 1-1] 2 3|/ # A H 0-3|@-0 1-1] 2
4 [ 5 | e | 7 | mm|omm| || e [ s [ 6 | mm|ma
R om A H A ®o0|1-2|®-0|2-1] ] 4 ® A @-1|1-2|1-1| 2
A H % - 1—1
# B H % Ik 8 0-3 0-3 | 0—3 [0-3| 4 59 m oz R 1-2 iz -2 3
1
= =) — — — — B E) ) — ®_1 -
= % % % o @1 ®o0 1—2 |2-1| 2 68 A B ¥ OB Q1|0 . @-o| 1
@ i® Al 0-3 | ®—0 | @—1 2-1| 3
8 9 0 | 11| B | B —
G T ®-0|®0|®o0|3-0| 1
& % A ® 8] 0-3 @-1|0-3|1-2| 3
0% A # & 0-3| 1-2 1—2 |0-3| 4
Mig % & % & Al 0-3 | ®—0| @1 2-1| 2
—o
12 13 14 | 15 | B | JEf
12z @ # % 8 ®o0|®-0|1-2|2-1| 2
1338 ® 8| 0-3 1—2 | 1-2 |0-3| 4
1
4% B ® x 2 0-3 | @1 0-3 | 1-2| 3
5% # ® # & @-1|@-1|0®-0 3—o| 1




